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Tz
EYThHhLI
SHEERRUIBRT |t=15cmA T Asifidz 5. 35+b. 0+3. 75+3. 20 17.3 17 m
SHEERRBERE |t=15cmL T Asfidz HEERITERSY 1,034.8 1,030 m2
SR IE Asix INREE 1L=2.8km |1034.8x0.08 82.8 83 m3
W& As5% WMIBIREX LHEI5|1034.8x0.08x2.35 194.5 195 t
Tz
TEEEEIE F5t=30mm WEMBHY N-25 |[FHEEmBIHERLY 1,034.8 1,030 m2
x[E t=50mm B AR K EAs20F E 1,034.8 1,030 m2
EEH Tt BIERTANY EHFHE(2.3x14.0 32.2 32 m2
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XERT
RERREL|(HEE RAvbht EH W=15cm 926.0 930
XEFRE T MR & RA4U K EH W=15em 400.0 400
KERZEL|HHE Bmil E#R  W=45cm 10.0 10
RERFET |MHE A= ER W=45cm 4.0 4
REREEL|HEE BRE XF- B We1Seniay 70.0 70
REHEET (MHE BRE XF- RS We1Soniay 30.0 30
Z2E
ZBEFEEB|RE RHKGL 3Ax5H8 15.0 15




TS AR R R (T A7 7V ML)

TH AL T CR IS SR

O MHAE A=LxWI
@ = A=axb/2
@ =M s=1/2%x(at+b+c) A=(s*x(s-a)*(s-b)*x(s-c))(1/2)
% 2 ngzL rbE;iW1 fIJEEWZ g B W HFEA s
) a 1 b ] c S
1 20.00 5.35 5.40 5.38 107.50 [ M4
2 20.00 5.40 5.30 5.35 107.00 |(D MU
3 20.00 5.30 5.40 5.35 107.00 (@D W45
4 20.00 5.40 5.30 5.35 107.00 | MU
5 20.00 5.30 5.15 5.23 104.50 | U7
6 20.00 5.15 5.10 5.13 102.50 |(D MU
7 20.00 5.10 5.05 5.08 101.50 | U7
8 20.00 5.05 5.20 5.13 102.50 |(D MU
9 20.00 5.20 5.20 5.20 104.00 (@D U4
10 15.00 5.20 3.75 4.48 67.13 |(D DU
11 4.60 3.90 8.97 |@ =¥
12 4.60 3.20 3.40 3.30 15.18 | MU
/B 1034.78
PEBR AR 0.00
& &t 1034.78
PebRmfE 4 PR LA B = 1A fH i &
15 MH
ANEEES
05
T A
b
& &t 0.00
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